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A &5 20, 000 | FFAIEES -4 D 3G
B EA &8 12, 000 | FrRIAE2 24 D 3 f
ZHANG  YIYING =] 7, 000 | FEHIEE 4 D 3G
kA B &8 7, 000 | ReBIIBE 24 D 3G
FARE R &5 10, 000 | 4#RIAE2 24 D S H
i) &8 36, 000 | 3L =GB D 3 4%
R KE &8 30, 000 | AL = AFEB) O 3R




HK K& &8 22, 000 | SCAL TG D 3 4%
2H A% =] 10, 000 | SCALZARTEB) 0> 4%
B AR &8 27, 000 | SCAL TG D 3 4%
i b4 K3 11, 000 [ LSS BY o> S 4%
RH BZ &8 8, 000| UL == Hiriddh o> S g
TIN  STOWWERN &8 10, 000 | SCALZEARTEB) 0> 4%
FafR  fEIRER &8 10, 000 | AL =& Bh o> 32
B HEF &8 7, 000 | RS 30L& £~ L 72 4B {E D
JIE LA &8 20, 000 |/ s 304k 2 A= 2> L2 AEE D
Al 6 &8 12, 000 | & s S0{b A& A 20s L 72 4B 1E D
A B &8 20, 000 |/ s 304k 2 A= 7> L2 AEE D
R R =] 15, 000 | i 5 S0{b & A= 20s L 7245 1E D
)l BERED &8 20, 000 |/ s 304k 2 A= 7> L2 AEHE D
H T =] 10, 000 | & 5 Ak A& A= 20> L 7245 1E D




